Paper: B.E_B.Tech
Set Name: |ltem33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: |Bengali
Topic: Mathematics-Section A
Iltem No: 1
Question
D- 100601
Question
Type: MCQ
fel S el xdy=(1/x2+y2 +y)dx,x > 0 < I (2 B AT x =1,y = 0 09
Question:
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Topic: Mathematics-Section A
Item No: 2
Question ID: | 100602
Question
Type: MCQ

- -1 x2—4x+2
Question: | farapielfar Siei# f(x)=cos 2.5 | T 40 G AR ST 2 ¢
s
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Topic: Mathematics-Section A
Item No: 3
Question
D- 100603
Question
Type: MCQ
—¥ TAS L FAN M N e N FAS AN
47 (TH a =(1+t)i+(1-t)j+k, b=Q-t)i+(1+t)j+2k R c=ti—tj+k, t e R (TAMA
Question:
— — - —
o B veR aa+ Bb+yc=0=a=p=y=0 . @ 7 t G A= (70 A ¢
A G0 *eTy (A6 73 a7 G0 FAN P16
B: N &9 7l
C: R — {0} €9 ANl
D: R ¢q 73
Topic: Mathematics-Section A
Item No: 4
Question
D- 100604
Question
Type: MCQ
Question: | THTHIIRE RvRTTE SR cos —!(x) — 2sin ~1(x) = cos ~1(2x) @7 AR JRI R R 273 ¢
A: 0
B: 1
C:

B | =




D: _l
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Topic: Mathematics-Section A
Item No: 5
Question
D- 100605
Question
Type: MCQ
Question: | 4f %, @ € {a, v} e AfEFA W (prq)@(p @ ~q) G Sl 2 @ FEE @ (+, ©) T 8
A: (V, A)
B: (V, v)
C: (A, A)
D: (A, V)
Topic: Mathematics-Section A
Item No: 6
Question ID: | 100606
Question
Type: MCQ

— -
47 9ol (930 2 TWANF9 | 47 p S (ST IS ([P (v, y) e RXR - {(0, 0)}, €7 O
Question: : : L
- - - o
(6y a —18x b) (oH (xa+yb) - AT &% | O aXb‘ GER DGR

A 93
B: 273
C: 9
D: 81
Topic: Mathematics-Section A
Iltem No: 7
Question 100607

ID:




Question

Type: MCQ

t € (0, 2) 93 &=, AWM ABC @& 7tz fage =0 amE Aafimale 28 A(sint, — cost), B(cost,
Question: 1
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9
Topic: Mathematics-Section A
Item No: 8
Question
D: 100608
Question
Type: MCQ
Question: | @ € N &, &8 6 1% R — N (req1 AMz| R = {(v, y) : 3x +ay , TR 7 & S0 | 771
| R @36 ANGEy TS 7F I (@RI ¢

A o =14
B: o, 4§37 sfTeF 77
C: o (3 10 T 19 FACE 4 SRS AR
D: o (F 7 B30 i T0H 4 SRS AR
Topic: Mathematics-Section A
Item No: 9
Question
D: 100609
Question
Type: MCQ
Question: G576 AFTFT 60% NZE G2 40% 757 AT 03, G0 N0 60% 211 B | GG oA AT ]

(& MATZSIF o 15n 41 261, O W4ioe AT WiZeT 2309 78 [ 23 ¢




A: E
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Topic: Mathematics-Section A
Item No: 10

Question ID: | 100610

Question
Type: MCQ

T i = y(x), x € (0, w/2) 2= ST HAN
Question: | (sin” 2x)%+(85i1‘12 2x+2sindx)y=2e" **(2sin 2x+cos 2x) (R, y(m/4) = e ™,

S y(nf6) @TTHAL

A: ie_zwfg
J3
" 2 293
J3
c. 2 2
J3
o 1 23
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Topic: Mathematics-Section A
Item No: 11

Question
D: 100611




Question

Type: MCQ
Question: W€ 2 = 2x —3 ¥3 TIF P AR Q 76 FWLe 7io = 5l 27, TRF 277=0F R(0, 1) Rgre
| = ¥ o3 fagE PQR @3 oTHRW 204 ¢
A 0, 1)
B: (2, o= 1)
c: 6, 3)
D: 2, 1)
Topic: Mathematics-Section A
Item No: 12
Question
D: 100612
Question
Type: MCQ
11
WRFEL+y2—x+2y =, F (FUC GR G T& T (7 (A 6 TP | ol e
Question: - _
C o s wifoer 391 a1l CP @ e (o T FCF R @ JEF Q =R R /T (7 777,
o3 fags POR (39 430F) 273 ¢
A: 2
B: 242
c: 8sin (E)
8
™
D: 8cos [—)
8
Topic: Mathematics-Section A
Item No: 13
Question ID: 100613

Question Type: | MCQ

Question:

72022 4 32022 (5 5 wig} Ol TG0 ST 2T ¢




A 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100614
Question
Type: MCQ
01 0
gfs wfew A=|0 0 1| @3z WfGT By=A*"+2A% | 3Ifw B, =Adj(B,_,), 7=
Question:
1 0 0
n =1 99 &, O det(B,) @< T (T 8
A: 328
B: 330
C: 332
D: 336
Topic: Mathematics-Section A
Item No: 15
Question
D 100615
Question
Type: MCQ
1
51={zleC: 21—3=—}¢ﬁ°8 =120 € C: |29 — |Zo+ 1f[=|zo + |2o0—1|}. ©@ z, €S
Question: ‘ l 2 N2 {2 |2 |2 ” |2 |2 H} 1€
G3% 2y € Sy 97 T |2y — zy| O TR TN T3 2
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B:

2
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C: E
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Topic: Mathematics-Section A
Iltem No: 16
Questi
Do 100616
Questi
T;Jpees: on MCQ

| gER+yP=1, z = 0 &7 THF (Al 7T (A Sfr© ca cimii fEfefie @iw qcwd Tolm
Question:
wafFe 73 ?
A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x — 3y
B: (5x+ 6y —12)2+4(3x+5y—9)2=1, z=6—2x — 3y
C: (6x+5y—14)2+9(3x +5y—7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y—8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Iltem No: 17
Question ID: 100617
Question Type: | MCQ
. 5x%

Question: ﬂﬁf(x)——+— x >0 47 S T T 14, OE@ o GF T =3 ¢
A: 32
B: 64
C: 128
D: 256
Topic: Mathematics-Section A

Item No: 18




Question

D- 100618
Question
Type: MCQ
4fa o, B <R y Tl 4aie A 7271, AN fx) = ax®+Px® +yx, x e RGO g : RSR, @A
. 1 n
Question: | o(flx)) =x, T x e R | A ay, ay, ay, ..., a, T TGS , 7 0%, O3 f| & ;Zl f(a;)
1:
G W (S 2
A: 0
B: 3
C: g
D: D7
Topic: Mathematics-Section A
Item No: 19
Question
D- 100619
Question
Type: MCQ
gfg @ =9 a;, ay, ay, ... (FWW a; =1, a, = 2 9IR ap4 =——+ay, TF
n+1
1 1 1 1
Question: At - || Bed—— | BgP— | |Hae
n=123 .. | I 2 |- 2 | e 1 =2%(%1Cyy ), o o 7
as ay as a3
W\ 2T 8
A — 30
B: —51
C: — 6l
D: —61
Topic: Mathematics-Section A
Iltem No: 20




Question

D- 100620
Question
Type: MCQ
X
Question: | RO TF(NA SFIHT ST f(x)=j‘e’“t Ft)dt—(x2—x+1)e* , x € R, & FEF 57 274 2
0
2
A: —_——
Je
B: —2e
C: _\/E
2
D: _—
Je
Topic: Mathematics-Section B
Item No: 21
Question
D- 100621
Que§tion Numeric Answer
Type:
413 S @ passwords €< 16 T 6 (A7 8 6 vl@ =y, AEes e sfag =0 qefeE {A,B,C,
Question: | D, E} Al AT {1, 2, 3, 4, 5}, 5RGuf 772 72 &taie 791 q@ | I S (AF (#€q passwords €T
TR FHATHE @0 5@ =W {1, 2, 3, 4, 5} 97 (A W ax 56, @ o 97 T T |
Topic: Mathematics-Section B
Item No: 22
Question
D- 100622
?ues.tion Numeric Answer
ype:
56 43 111
R P(-2, —1,1) €& Q T T W 7w 21 999 PRQS <3 %6 #9[™ | 9% 3 RS «F
Question:
o SIS B8 o, —1, B, (I T o G B To1 TR SRR O FLG, 6T o2+B2 &
BICEIC| |
Topic: Mathematics-Section B

Item No:

23




Question
ID:

100623

_I(?;pees:tion Numeric Answer
i £: [0, 1] — R <=6 &SR ST <& ST (0, 1) %, @A f0) =3 &% f(1) = 5. 7w
Question: | LRI y = 2x+3 2G AT £ T @< 76 fon Rre (w0 G (0, 1) OE, OF S g
e (0, 1), f“(x) =099 [ |
Topic: Mathematics-Section B
Iltem No: 24
Question
D- 100624
Ques.tion Numeric Answer
Type:
V3 3
15x
. qfy f de_"‘ﬁJrB‘E,mﬂm o, B IUS Y, OF o+ B 99 TE I
Question: 0 \/1 +12 + (1+x2)
]
Topic: Mathematics-Section B
Iltem No: 25
Question
D- 100625
?ues.tion Numeric Answer
ype:
1 -1 B 1
g A=, @R B (Lo BeR | 4R o T a9 G T > FrE w1
Question:
2 2
(A+B)?>=A2 {2 2} 3R oy T o GF G0 W TR B 6, (A+B)2 = B2 O |y —atp| =
Topic: Mathematics-Section B
Iltem No: 26
Question
D- 100626
Question

Type:

Numeric Answer




¥ p, q e R 99 &1, G %7 R4 SAFE fix) = (x—p)2—q x e RGR g >0 | &R a,, a,

Question: | a, =R a, (b AN 2A5OTS TR AR T p G LN AN O | A7 | f(a;)| =500 7w

i=1,2,3, 4,93 fix) = 0 G TR ISRET G 21 |
Topic: Mathematics-Section B
Item No: 27
Question
D- 100627
?ues.tion Numeric Answer

ype:
x2 ]/2
W"@W@H:xz—y2=1kﬂaif§9ﬁ@]£: —2+b—2=1,a>b>0,w
a
_ (1) E<3Te3mo] & H 93 GIeFUOI SRS G-
Question:
D 2y

(2) Fs I y=\gx+l< 2 E @3 H @3 4R ~F | O3 4(a2+b2) 937 T4 T4

______ |
Topic: Mathematics-Section B
Item No: 28
Question
D- 100628
Ques.tion Numeric Answer
Type:

1

4R 2y, x5, 23, ., 2 THANER (AATE (R 11 =3 3R I SATS | G T T Cf
Question: P _

1 281 Al x; 9 SARACE (x, — )2 A | WM 3 2 o (2o ST, ©F ¥ < A S T

______ |
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100629
Ques.tion Numeric Answer
Type:

100
Question: . (x+2cosx]3 +2(x+2cosx)? +3sin(x+2cosx) | ¥
lim & T T

0 (x+2) +2(x+2)2 +3sin(x+2)




Topic:

Mathematics-Section B

Item No: 30
Question ID: [100630
Ques.tion Numeric Answer
Type:
3x2-9x +17  5x2—7x+19
Question: Y oxrey X A G e x 97 AW N CForTe
2 +3x+10 32 +5x+12 5 ' L
Topic: Physics-Section A
Iltem No: 31
Question ID: 100631

Question Type: | MCQ

2
{B—] G TIPS A

Question: Ko
(@ g : X T (GRS (SWe] =8 B : (BTES (g 2T

A: [M L2 T-2]
B: ML T2
C: [ML-1T2
D: [M MI2T 2 A—ll
Topic: Physics-Section A
Item No: 32
Question 100632
Questi
T;Jpe; on MCQ

@5 I = o At 9 km/h FECH @6 NCC 201@e 56102 @ 50z S (4F 19.6 m
Ouestion THom (G A AT SR | (F! I TZ06 A G5 SN (T (7 | (B Z0S A HI0GLHS

HESTON | sireite caite e T ARE (7 ST 47T AR 7

(7T T2 n g=9.8 m/s?)
A: 5m
B: 10 m




C: 19.8 m
D: 245 m
Topic: Physics-Section A
Iltem No: 33
Question
|le : 100633
Question
Type: MCQ
7l 5j24F AR G0 5 kg ©E@F I 25 ms— ! Bfore G (RSN WO I R I
Question: | (i) 3 (AT, (i) 5 G ife2ia = |
w3 Fva TeeelEm iy @G Ale ¢
A TE UoiF A G0 qIS G2 TG 5% J67 (a2 G2 T(A |
B: I T MEAE S GI'® TOATHEG FI NS 91G 147 el 3 |
c: IHF TAT ARG 51G o] GO ACERCE NI (% e e 20 |
D: IEF TAF AT S G T67 32 IS GO CFeq el 204 |
Topic: Physics-Section A
Item No: 34
Questi
IDLfeS 'oN 1100634
Question
Type: MCQ
Question: | T G (TR ©H 10 g | €2 @FF (@ 4.5 cm/s (@09 AN Qe @R ARl Am
| REFD Tl FEEF (@S 5 s T AN @ (TR G697 TS 91T T ( dyne GIFCF) TR ¢
A: 3
B: 9
C: 12
D: 18
Topic: Physics-Section A
Iltem No: 35
Question 100635

ID:




Question

Type: MCQ

Question: | T sifaada 7 @ T 2JfAT AN 2% FFOE T O G TS| GO N AATaS
g 2

A THE 2%

B: T 4%

C: Qe 2%

D: e 4%

Topic: Physics-Section A

Iltem No: 36

Question ID: 100636

Question Type: | MCQ

1 cm? SERME CFaTe] KB a9 (51 Bes 90 I01d W9 204,

suester (2VG ORGA TRBNTFT T 2 x 101 N/m?)

A: 1x107 N

B: 1.5x107 N

C: 2x107 N

D: 25%107 N

Topic: Physics-Section A

Item No: 37

Question | 490637

_?;pees:tion MCQ

question: | &0 e el 50% AW FF 97 Slew@ 40°C 39 S ©@ TFEOR 30% I 906 |
TR (TA) Sisiat 74 ¢

A 166.7 K

B: 255.1 K

c: 266.7 K




D: 367.7 K
Topic: Physics-Section A
Item No: 38
Questi
ID‘feS 'o" 1100638
Questi
T;Jpees: on MCQ
e 1: G ol s we sie Sar@el Ol SrwiaE T e [ |
R 11 RTee 997 Se-T-7 (rms) @R N9 0 | AW SioE Bed 77 T @32 SH0E
Question: v fraifere 2z uit Sfeees s7wiga JR " " O Sfe-Sg-3e @09 39 201
20 |
ToitaR FYTeara AT Aow [eaiy wioe 5 ¢
A a9t 1 =< Fgfe 1 Towz =
B: faqfe 1 e fagfe 11 Terae e
c: e 1 7= fog f3fe mea
D: fagfe 1 o= foe fagfe 119100
Topic: Physics-Section A
Iltem No: 39
Question ID: 100639

Question Type: | MCQ

.2
coeston y =05 smT’“ (400 t — x) m

GERUE A MG [ RO IO IS
A: 200 m/s
B: 2002 m/s
C: 400 m/s
D: 40042 m/s

Topic:

Physics-Section A




ltem No: 40

Question

D: 100640

Question

Type: MCQ
40 pF 47y T2 56 aigae (@i T ge 91 Witz G o G PieaEd T K

Question: | s@ifyre g R*8 omie fica “if T2 a1 G GoT 4IAF0GA W HIOR 24 uF | O@ K @
Al 2

A 1.5

B: 25

C: 1.2

D: 3

Topic: Physics-Section A

Item No: 41

Question

D- 100641

Question

Type: MCQ

Question: | R @42 i O S T EI6a O 3 O SIoe (Iedd el | O3 «fbd 9w (@
AL O A (A DA 2(F 2

A 9:1

B: 1:9

C: 7 R |

D: i E e

Topic: Physics-Section A

ltem No: 42

Question ID: 100642

Question Type: | MCQ




APHICRO SO
G0 ST 2 rame! 3z =1 @S A
(A) =ARF AT I 90 |

Question: (B) (T (g AR i 90 |
(C) PeeTd FawEE i 9o |
(D) FeRaT IR IITF (GI7E FPo6) @ 2 960 |
frsffe Resaler S Adioge T=T @z ate ¢

A ®YNT (B) @K (C)
B: Sg (C) @< (D)
c: BYAE (A) 932 (C)
D: SYNY (B) €32 (D)
Topic: Physics-Section A
Item No: 43
Question | 490643
_CI_J;pees:tion MCQ

QI 0.45 kg m- ! G TCT G310 4197 78 45° (I ST G 39 OFR G271 AT

S A 02| W €T B (GIFF CFA ToT SRR WW 0.15 T 20 ©F €2 nefird €2 Oime

oA T2 TS W A W@ FEWE T ¢
Question: | (TTRT T 2 g=10m/s%

B ¢ 21 g
450 T

A: 30 A
B: 15 A
C: 10 A
D: 3A




Topic:

Physics-Section A

Iltem No: 44
Question
D: 100644
Question
Type: MCQ
G0 &7 N TGS LAJIEF ANF 5 sin(49 wt—30°) | I S W 30 mH T O
_ ST P AT W [ erer@ A9 23 ¢
Question:
AR
Hw=—
7
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt+60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Iltem No: 45
Question ID: | 100645
Question
Type: McQ
O 2L M SIS T 749 G0 SIS A BOR e siferasl v, A 8
(A€ c=3x 108 ms-1)
Question: Air [Medium 1 |Medium 2
}'IT — 1 ""‘I‘ = 1
=4 €=9
ARCHEG
A: 1.0x 108 ms-1
B: 0.5x10% ms-1
C: 1.5%10% ms-1
D: 3.0x 108 ms-!
Topic: Physics-Section A

Item No:

46




Question

D 100646
Question
Type: MCQ
Question: G AT HRAICOR AR SRAZI SeeH @R Seead Wi 1y 30 cm | AW G@9 6707
| (Fife Fad 2 21 o SRR (FI Eeed WK 2@
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Iltem No: 47
Question
D: 100647
Question
Type: MCQ
A= 1'”7mﬂﬁ@ﬁmmaﬁﬂmﬂﬁamﬁ@ww (TS I | GBI
x
x IR TS 929 91 @ 2

Question: | AT m = ZERE O

I GEaNCEACHIE D

K =3F60d aife*ie

V =3(FFER TR 2@ GiEE e
A vmK
B: \/]3
C: K
D: JV
Topic: Physics-Section A
Iltem No: 48
Question
D: 100648
Question MCQ

Type:




Question: | el cowfi el ey, 60 i | b 24 o e R W0S T A
A 120 T

B: 130 fim

C: 180 faw

D: 20 =

Topic: Physics-Section A

Item No: 49

Question ID: 100649

Question Type: | MCQ

Question: e erfbaefer @ @ Err 3 [@HE o 2a ¢




Topic: Physics-Section A
Item No: 50
Question
D- 100650
Question
Type: MCQ
Question: | g&f6 TR TGP o1 RFT© ST TR ATACS TGEH LA () & T (FH0 203 2
A: [ 5
B: T 1
C: = 2
D: = 0
Topic: Physics-Section B
Iltem No: 51
Question
D- 100651
Question .
Type: Numeric Answer
. A A A A A A
Question: | j 427 + qk €4 2i +4] — 2k TF 7 SMCTHFA W) | ©4 o G W A
Topic: Physics-Section B
Iltem No: 52
%?GS”O” 100652
Question .
Type: Numeric Answer
Question: b TITHIT AFO (TEHR TR T 2 W61 30 WG @3z @iz [feel etk seifre st
| 64 @9 (@ | FTON TS AN ATF G2 B W WA e I M@ ©F W 0! |
Topic: Physics-Section B
Iltem No: 53
%‘feStiO” 100653
Question

Type:

Numeric Answer




G316 37299 BRY AT 560 nm @ ETEIF A 7.2 mm A7747 Tege #A6a (@4 7o/ Aed Ty

Question: | (7| BO O GF6 SR T I7 8.1 mm @4 T2 AEE TR FE OF GO ST
o] ?frt'fr'il/i nm |
Topic: Physics-Section B
Item No: 54
Question
D- 100654
Ques.tion Numeric Answer
Type:
@6 LCR (¥ Sewifn q61ce 2[10zd [eiE o A Siee % @9 7 U (FIAF FT
Question: P P
212 rad s €3 232 rad 5! | @ IEIR @EE T R=5 Q | @ IETR F3 SR A
mH |
Topic: Physics-Section B
Item No: 55
Question
D- 100655
?ue§tion Numeric Answer
ype:
20 Q @14 @& 300 cm T G (AGIHACEGR ©F @ @8- (R.B.) €98 <6 4 V emf
SR AGRE (PR AN (T AT & a1 29 | (T I @14 R 20 GFo 20 mV (F1F @
I 60 cm (AT & <l T A | ‘R’ G W O
4V R
Question: | —6—[RB]
A B
O
20 mV
Topic: Physics-Section B
Item No: 56
Question
D 100656
Question

Type:

Numeric Answer




1.2x10-30 Cm @3 2.4 x 10-30 Cm Btz o JME qb ofve Rt IA@ 5x 104 NC-!

Question: | @3g 15x 10* NC-! &ia0emd Sfrewg il 261 | RrRFard T I oS 1“@?{ x 93 T
X

______ I

Topic: Physics-Section B

Item No: 57

Question

D- 100657

?ues.tion Numeric Answer

ype:

O Afegma 1T =3 Hz 744 36 km/hr @9 936 7&© wfeqrd sfeqia

Question: | «&f5 (571 320 Hz F=Aistd oo e @2 2lfeqi il (5o 5o (it | Ao =737 siferast 330
m/s |

Topic: Physics-Section B

Item No: 58

Question

D- 100658

_I(?;pe;tion Numeric Answer
2 mm P G0 IFFRT 1750 kg m~3 T9098 G BIEF fowg M@ 0.35 ems-1 9ifor=es]

Question: | THTEd s TIE | @ VAT AETS! el T poise. (I {4 (AR g
o)

Topic: Physics-Section B

Item No: 59

Question

D- 100659

_?;pees:tion Numeric Answer
‘m’ (A T 73 (57a7 i) E 9ifexifE 72 @30 72k @ SIere 2T 92 P2 25 cm 36
73 w2 «fb3 sifeife wide 20z 3w | FeifBa ik 439 9 nE Nm- 129 9@ n @3 I |

Question: R

Smooth surface

Topic:

Physics-Section B




Iltem No: 60
Ql{estion 100660
ID:
Ques.tion Numeric Answer
Type:
‘a A R M’ ST BIF0 SIfeq 5ot Hrad Fiid A 2 | OO' S AT TG0
ey N .WEMazi@_’{xkﬂﬁW’iﬁﬂ |
TO
Question:
10
Topic: Chemistry-Section A
Item No: 61

Question ID: 100661

Question Type: | MCQ

Question: T e T ﬁ@%ﬁ‘j %&@ g 2

A (@I 5 21 (AR Sl 2Ie Jew #19 TS 2ERRG (2N |
B: GG T ZF] (D AT B (RO OL5 SILAHRE (1)

c: I (et i @IEE SR Sy AN |

D: IR T (AT n R | RGN A< 27 Reeie |

Topic: Chemistry-Section A

Iltem No: 62

Question ID: 100662




Question Type:

MCQ

A: AH = AU-PAV
B: AU = q+W
c BB NG 20
D: AG=AH-TAS
Topic: Chemistry-Section A
Item No: 63
Question | 490663
_?;pees:tion MCQ
Siferd - 1 93 Af2w i - 1 GeTle
i - 1 siferd - 11
(A) Cd(s) + 2Ni(OH)3(s) = CdO(s) + 2Ni(OH), (s) + H,O(1) (I) #elfss Ao
(B) Zn(Hg) + HgO(s) — ZnO(s) + Hg(l) (I BORE JOHR SII=-
Question: i (feomifer)
(C)  2PbSOy4(s) + 2H,O(1) = Pb(s) + PbO,(s) + 2H,50,(aq) (III) G
(D)  2Hy(g) + Oz(g) = 2H,0() (IV) &eIFs JoEE
siitCe (51feRk)
e Remefem S Aids Tea biee 34 2
2 (A) - (1), (B) - (1), (O) - (11I), (D) - (IV)
B: (A) - (IV), (B) - (1), (C) - (1), (D) - (L)
C: (A) - (1), (B) - (@), (©) - (IV), (D) - (L)
D: (A) - (1), (B) - (1), (©) - (I1I), (D) - (IV)
Topic: Chemistry-Section A
Item No: 64

Question ID:

100664




Question

Type: MCQ
wifer! - 1 97 Afze Sifer - 11 GreTe ¢
i - 1 wiferd - I
fafammt SEF
(A)  4NH3(g) + 50,(g) — 4NO(g) + 6HO(g) () NO(g)
Question: | (B)  Na(g) + 3Ha(g) — 2NHs(g) (I H,ySO4()
C,H»O + H,O(1 C:H{,Or + C.H;,0O
(@ OO0 e e ) P
(D) 250;(g) + O2(g) = 2503(g) (IV) Fe(s)
Tieea s el (e Afde Teal e w4 ¢
A (A) - (1D, (B) - (1), (C) - (1), (D) - (IV)
B: (A) - (), (B) - (1), (C) - (I), (D) - (IV)
c: (A) - (), (B) - (IV), (©) - (1), (D) - (D)
D: (A) - (), (B) - (1), (C) - (IV), (D) - ()
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100665
_?;pees:tion MCQ
TIHR (B (SIS 7ol (T 2ERE-IG GLiE = @i @ S2@) e 2
(A) Rb &% Cs
| (B) Na @ak K
Question:
(C) Ar @38 Kr
(D) I<R% At
Tieea e et (Ut oE Teal v a4 ¢
A @R (A) @32 (B)
B: (@< (B) =& (C)




c: (T (A) @3¢ (C)
D: @< (C) @32 (D)
Topic: Chemistry-Section A
Item No: 66

Question ID: 100666

Question Type: | MCQ

Question: | TeTIE AT SIRRESE 9o IR Ty IC6A (I R Ty 2
A: 2CII25 + 302 %2(:1120 + 2802

B: Fe;O, + CO — 3FeO + CO,

c: Al,O3 + 2NaOH + 3H,O — 2Na[Al(OH),]

D: Al,O5 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: 100667

Question Type: | MCQ

Question: | FIF AGTS ATAS! FaeHT JHarel T 4Tg wiaeef ¢
A Ca(OH), €38 Mg(OH),

B: CaCO; a8 Mg(OH),

c: Ca(OH), «&< MgCO,

D: CaCO; @3 MgCO,

Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question: SO &aC| et e 2

A: GEICANGH L 3 ZA- P Gel LiF -9 WIret 39




B: KO, #HIpFF

c: OFE STAIRAR CTCasg v ofeeszarz egfea

D: BIRAN 4igd Teme I 4ex 9 THwed

Topic: Chemistry-Section A

Item No: 69

Question ID: 100669

Question Type: | MCQ
sifer@ - 1 @7 32w Sife - 11 Gele

Sifer - 1 wifer - 11

(A)  (NH4),Cr,Oy —2 O H,

Question: (B) KMnO4 + HCl — () N,
(C) Al+ NaOH + H,0 — () O,
(D) NaNO; —=- (V) Cl,
154 Remaf (A e Tel bize 9= ¢

A (A) - (1D, (B) - (1), (C) - (D), (D) - (IV)

B: (A) - (), (B) - (1), (©) - (IV), (D) - (II)

c: (A) - (1), (B) - (IV), (C) - (), (D) - (1)

D: (A) - (), (B) - (IV), (©) - (), (D) - (II)

Topic: Chemistry-Section A

Item No: 70

Question ID: | 100670

_?;pees:tion MCQ

Question: | ¥feT& OTH (ATE H, T T4 210! RIS Tielem st w7 wiersl o ¢

A Cu




B: Mn

C: Ni

D: /n

Topic: Chemistry-Section A
Item No: 71

Question ID: 100671

Question Type: | MCQ

1t w2l Rgfe orea == ¢
ffe1:  vR© otel uqig® wiE (e € BOD TozE WiF 39 5 |

Question:
fRfe 1: GifrR T o vaige SEHEEa wAfase F0 |
Tolraa Rgfoufer wites Titsa Renafm s 7s Teaf iz 3

A e 1 92 11 Terwz =

B: faqfe 1 @32 11 TeraE o

C: f3fs 1 U =g 3t 11 e

D: gt 1 o1 e fagfe 11 o

Topic: Chemistry-Section A

Item No: 72

Question ID: 100672

Question Type: | MCQ




wifer - 1«7 AEe sifEsst - 11 Gele ¢
wifert - 1 wiferst - 11

(A) Q I) AR el
(B) ><I>< ()  SOCACHS Gl

Question:
(C) N () CZBIAPERRE el
(D) @ (IV) e Gl
15 (redl Rm el (A e Tea bize 34 ¢

A: (A) - (1), (B) - (), (©) - (IV), (D) - (III)

B: (A) - (IV), (B) - (I1I), (C) - (I), (D) - (IT)

c (A) - (), (B) - (IV), (©) - (1), (D) - (II)

D (A) - (IV), (B) - (111}, (C) - (II), (D) - (1)

Topic: Chemistry-Section A

Item No: 73

Question ID: 100673

Question Type: | MCQ

(|:H3 Hg(OACc),, H,O
uestion: C)n,
e B i) = H,C-C-CH=CH, — 22", A
H,0,/OH | NaBH,

CH,




A ‘A’ G=R ‘B’ TEIE M iEe g Teom

B: ‘A’ TS T @3% ‘B SITifs-SitdifaTe Teoim
C: ‘A BB TORR S-SR Teim

D: ‘B’ TS Tl <R ‘A7 SifG-Rideee Teim
Topic: Chemistry-Section A

Item No: 74

Question ID: 100674

Question Type: | MCQ

Question: CHOF| (I @6ifo7 Bfzw caitn 7w pK, I (7 2
H
A:
H,C — COOH
H O
B: |l
H,C—-C—CH;
H
C
C: HE'
@)
H
OH
D: (
O
Topic: Chemistry-Section A




Iltem No:

75

Question ID:

100675

Question Type:

MCQ

B¢ memmmw%WAmaB%%wz

(1 CI-I CHCH , AICT
2) . ¥ Al N, cr,0,/H,50,
(2) 2
Question: » PP » A
I-I20
Brzm C52
A: @ E<R @




0 OH
Br Br
c GEH
O Br
OH
OH Br By
D:
R
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100676
Questi
T;Jpees: on MCQ
TIE (e FoATEA &) AT a6 7 54 ¢
. C,H-ONa
: 2500
Questen | CH,-CH,-CH,~CH-CH;————> A+ _B
| CH50H (325 Terim) (¢ Teow)
®N(CH;),
A A - CH,CH,CH=CH - CH,, B - CH,CH,CH,CH = CH,, (25(&F Ciin
B: A - CH,CH,CH=CH-CH,, B - CH,CH,CH,CH = CH,, 2% &




C: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, W%W

D: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, (250 Tin
Topic: Chemistry-Section A
Item No: 77

Question ID: 100677

Question Type: | MCQ

Queston: | (Bfafe ifemiz, fFffe @ wve (ceaerm) ffeas Tem 22

A TA-1, 2-TiESE 38 @fgH-1, 3 TR wifte
B: (AT2H-1, 2-TIZSE IR @fG-1, 4 TP St
c: -1, 2-TIRwE W38 @fgH-1, 4 TizFHREERE ke
D: -1, 25129 3% @IGH-1, 2 CizaRR Sribe
Topic: Chemistry-Section A

Iltem No: 78

Question ID: 100678

Question Type: | MCQ

ey ave ARG e (X) 99 T AT ARl oo
|

HO—?—H
HO-C-H O

|
Question: H-C-0OH




i
®
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO ]
C: OH >
HO | OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Question ID: 100679

Question Type:

MCQ




T WA 8Ty T=ifFe FIah Ko Mo rew =& ¢
(A) T@tes @31 dfoav 1 ¢ weforq) 27|
(B) <« IEa B @ SHITHAITS 73 F T&« FIC© A |

sueston (C) efE ) T4l SEEERE 2 @ |
(D) weifoamy Snyafer Afew 2 @l
16 el Rmale (AT ATF ToTE Tea Bz a4 ¢
A @2 (A), (D)
B: & (A), (C)
c: @2 (A), (B)
D: 2= (A), (B), (O)
Topic: Chemistry-Section A
Item No: 80
Question ID: | 100680
_%Jpees:tion MCQ
T SN H,0, & %S SitaeiRe s [ 5ife srierscem o 3
(A) R S-2Ee (IO Ta 924 3 |
(B) KI WS 7109 S5 (MG ARG 91Ty 7wl 1 12 |
Question: | (C) «IF AEA TSI SRIAZS 7/ R 12 34 |
(D) e AER TNRGITR SRR 973 7 w2437 3 |
(E) KIBe 9oy Swsi=l e Aemenamiod vy 7m @R 71 |
TR ove ks el (A 7oE Tealt s 34 ¢
A 2= (A), (B), (O
B: (=1 (A), (D), (E)
c: @& (D), (E)
D: (=1 (A), (B), (E)




Topic:

Chemistry-Section B

Iltem No: 81

Question

D- 100681

Que§tion Numeric Answer

Type:
X +Y + 37 ‘—_'XYZ3

Question: | .05 (f&1 #{fFTiel Z <& A(ZS X RR Y TORH GF (M A3 SEie R @9l XYZ, Tom = |
XYZ, @& =ife) gl (BTS2 X, Y ¥R Z - «7 AefRs ©7 T 10, 20 &R 30)

Topic: Chemistry-Section B

Item No: 82

Question

D- 100682

Question .

Type: Numeric Answer

Question: T M, 300 pm (F7F 28 [HB FLIUT W G (FICT (1S 2| (o109 g

"1 60gem™3 | TER 180 g AR sz 3 x1023 | (Foew 7o)

Topic: Chemistry-Section B

Iltem No: 83

Question ID: 100683

Question Type: | Numeric Answer

fsRiie Tmielm W smpEdE a5 A

Question:
. — 2= ~T i +
Bz; LIZ r C2 7 C2 ,02 ;02 Lﬂq\\ HEE
Topic: Chemistry-Section B
Item No: 84
Question
D- 100684
_Crlue§tion Numeric Answer
ype:
150 g SHTALF SHFCT 10.2 g SHFRT PG (C HO,) Tu@ma Toifgfers Zam g =i
(xx10-1°C| x @A W | (fFreoew oo
Question:

[27€ ¢ K=3.9 K kg mol ~;
SR SIPIEa (et @ = 176 g mol !




Topic:

Chemistry-Section B

Item No: 85
Question
D- 100685
Ques.tion Numeric Answer
Type:
faeifes wifre (C,H,COOH) 98 K ~4a M 2x 105 | 0.2 M Reffs snifie w@em pH
Question: x10~1| (fe=eea sjefzam)
[2w€ 2 log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D- 100686
Question .
Type: Numeric Answer
A — B @2 29w & f[feam sy e 0.3010 G |
Question: | astarara 2l 9oy @3k Rfaram 2.0 G #7 faskizs SIvred Smeite 7@ | (Fa5e
s{ef1e20TT)
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100687
Ques.tion Numeric Answer
Type:
ovest feffe TeslE W sior FRiicrss som T SEgEes @R At 2
uestion:
CIF,, IF., BrF;, BrE,, L,Cl,, IF;, CIF, CIF;
Topic: Chemistry-Section B
Item No: 88
Question
D- 100688
1Q_ue§tion Numeric Answer
ype:
SIES MG MnO3~ 49 SPIgsires [z w26 et (T15 A 9 BTSH | B (9 Mn -
Question: | @3 TS W TM A (T Mn &7 FIFE W (5 35 23 O B 93 efqa[@ TR DN () T

BM | (FsBe 2jsi724)




Topic:

Chemistry-Section B

Item No: 89

Question

D- 100689

Ques.tion Numeric Answer

Type:

Question: | SI&weT] b1 (19 Cu(en),(SeN), ~47 SITsiTHE BEICA @M F 78 1y F157 A1
Topic: Chemistry-Section B

Iltem No: 90

Question

D- 100690

Question .

Type: Numeric Answer

question. | C L % O TS @l T (T 0492 g AR sfef WEEE WA 0.79376 g CO, €RR

04428 g H,O T & | (T[ (J1500® UG el HF[e T 7




